A £ 0l & AF & S

Al A

SA: STAIED
HE: MR- Al B
9l ADDATAM Al =E (crol: m2)
SA - B S9(SH) - NIRAY - BES o &r o - HIDS2
N 4,957,304 4,529,604 427,700
= 700,000 700,000 0
Al 4,257,304 3,820,604 427,700
AR - A PR 2,957,304 2,529,604 427,700
= 700,000 700,000 0
Al 2,257,304 1,829,604 427,700
ARDACAIL AlE o5 2,417,422 1,997,422 420,000
= 700,000 700,000 0
Al 1,717,422 1,207,422 420,000
ARDETAIE 3| 421,008 401,008 20,000
T EEST] 421,008 401,008 20,000
01 A& 420,000 400,000 20,000
OARBLTAIE SBRAALY 25
243 420,000,000%! 420,000 400,000 20,000
ARDETAIE NS 99,414 596,414 400,000
401 Al&HIZ S CHY] 9,414 596,414 400,000
01 Al 9%, 000 59,000 400,000
OBHAY AARLTAE N4
217 800,000,002 800,000 400,000 400,000
WRE +52 23 530,882 532,182 7,700
ARSETAIE SEINA 33,082 307,382 7,700
] 161, 100 163,400 7,700
2 S22 160, 100 162,400 7,700
OXSE LRBLCAIE SBEUNLY R
XI2t2| (HW) 700,00024+141 700 0 700
OXSE ARBLTAIE SHEUNAY 8
NS 7,000,00024+141 7,000 0 7,000




